David Bowie Medley







Time 
Chimes, goddamn, you're looking old

1
2h,2l,3: ah
You'll freeze and catch a cold
'Cause you've left your coat behind
Take your time





1,2,3

Breaking up is hard, but keeping dark is hateful  
1+2h,2l,3
I had so many dreams
I had so many breakthroughs
But you, my love, were kind, but love has left you dreamless
The door to dreams was closed
Your park was real dreamless



1,2h,2l
3: ah
Perhaps you're smiling now
Smiling through this darkness
But all I had to give was guilt for dreaming







Life on Mars

1 lead:
It's on America's tortured brow




That Mickey Mouse has grown up a cow
Now the workers have struck for fame

'Cause Lennon's on sale again
See the mice in their million horde(s)


2
From Ibiza to the Norfolk Broad(s)


2
Rule Britannia is out of bound(s)


2, 3 vanaf_
To my mother, my dog, and clown(s)


2, 3
But the film is a saddening bore  

          3→ 2: 'Cause I wrote it ten times or more    'Cause I wrote it ten times or more


3 
It's about to be writ again



2, 3
As I ask you to focus on




2, 3: ask to focus

Sailors fighting in the dance hall
 

2, 3
Oh man, look at those cavemen go


2, 3 (gooooo)
It's the freakiest show   (→ 3: Take a look at the lawman)
Take a look at the lawman



2: Lawman
Beating up the wrong guy



2, 3
Oh man, wonder if he'll ever know


2 (knoooow)  3:  oh, oh, oh
He's in the best selling show





  3: ohohoh, ohohooh
Is there life on Mar(s)?




→ 2, 3: Is there life on Mar(s)

Haa







1,2,3







Starman

CHORUS

There's a starman waiting in the sky
1: lead
3: starman waiting in the sky 

        2:  starman
He'd like to come and meet us



2: _
3:  oe 3x




But he thinks he'd blow our minds
There's a starman waiting in the sky


3: starman waiting 

    







2:  starman
He's told us not to blow it




2: _
3:  oe 3x
Cause he knows it's all worthwhile

He told me:
Let the children lose it




2,3 oe

Let the children use it

Let all the children boogie

Repeat chorus (2e x zonder There's a)
Lalalala






1e x 3 









2e x 3+2l, 2h 








3e + 4e x  3+2l, 2h, 1
